SHMH  M=22 AlCHe| AEH|0|= 3

ro
rx
|.|'|
_Olt
rir
ol
rx
1)

BrightHub
21

$<) BRIGHTHUB

A Huf 5to| 22| = AH|0f



Sel= Fel?

HZ0|ES{E OIO|tHA = 2025H0f S5 &l M

Xo| slo|HZ|E 24 n2|= AHo|230] olma

SUAZOZE, =2 SHOIA|OF AAAH| 2[5f ¢l

THO|E =[RS LICT O] S3ZF2 XONE 3 ONE

Nl 7= 7|¥Ie = ofH, 542l 7HX|& &

AA[Z]7] 25 ISOE E5ff ofo|E2|= e &
| S gL

3

A Huf sfojHe| = AH|O|S

ACRA

UNTING AND CORPORATE
R {LJL.-T'TDR. AUTHORITY

dl
0
0

|H

L]

TUlK



BRIGHTONE

)

VISION

@ onecHAIN &3 PancakeSwap
J( xonNE OneEX LBANK
BRIGHT BRIGHTMALL 1t 5 bR 1T

LOVE WORLD

7:|x_“ sz leUIC\)NE PAY
= N\ /¢ Rt 20, AGEARRE

% SutopAlole] =2 7| HekE IEL




»
N\ g
Rt S A M xtel 743} Kot
. ADIE AH|OF e AMM X}z M[EFK} o A2F ZTA}: HashEx
. SEM HZX} « DEX X2l 7{z2}
* ¢} PancakeSwap e LU 1%-4%

dl
./
0

|H

L]

TUlK

@ A Huf 5to|HE2| = AH|O| =S



S HH  M=z2 AlCHel 20| 3¢l MLol= 44 A Huf 5to| 22| = AH|0f

BrightHub
ZAwLIE|l Sth

$<) BRIGHTHUB

3ol elxaf



xakxi AF|0]2

Oﬂ—

$1005E| A&

712t Ag0|Z HA
O (XH) 0.3% - 0.8%
90 1% - 1.5%
180 1.5% - 2%
360 2% - 4%

C
25 + X £000] oo ZHEH, 7

2HH

3Hh

44

A ChH| -

O ™1 L.

A Altt2 30%2

A
ds= AAELICE

HE Q|3 Hyst=
Mot = X5 7tset 24

A WY 510|H2|= ABo| 20l QA EHE



A
‘&' BINANCE

50% USDT 30% BHC 20% BNB
- M MAXCE oI¥et=H| C|X|H » 53|29| ISO o 32HH EXHA - HIO|IE|HE EE .« CEXOIA el 7t=
KpAE s MENAMAIIHAST o HAHE « 10004l &RHA HE

@ A i ofo|He| = AH|0]S3Ql Qlxel SEE



2F: 560,000,000

A XM= : 460,000,000
100,000,000

-"II.J

0|5 EZ HAHLIE

s i

« |SOs AE|O|ZIS &6l BHC &%
« BHC x£7| 2 H|& :$0.2 - $0.4

22} HIAHALIS

+ BHCZ USDBZ m&t

. 50% Azt

¢ 50% 3602 H|2F HYEHE o\« ——
'.“ ; '

X1 Hul| sfo|22|= AH|O]

ﬂl||I
2
O
|H
u
L]
U



1.0 Ok #A MEXC Global /
0.8 (Gateiio

0.6
1X} 1ISO 2X}1SO 3X}FISO 4x}1SO 5X}I1SO
BHC x2 BHC x2 BHC x2 BHC x2 BHC x2
O n 4 \0\0 ‘i\o vo‘\o Q?\0 6\0
BHC 457t & = o-laFk.
per $0.01 o oY v oY N = 22%:460,000,000
0.2
0.0

» BHC & lZF0| 0.11%0i| ==otH 71H0] $0.01 S7refLICt ol & =0, 7140[ $0.200(|AM $0.21= &7i5t1, SO.400f =E5HH 0.11%01| A ZAiZF0[ 0.22%=
S7tefL .
= $500= $0.210]| BHCE +toifot= H| ArE5tH, 500/ $0.21=2380 BHC.

@ At sto| 22| = AH|O|S3Ql Qlxal SRE



H>
-0

BO

B1

B2

B3

B4

B5

B6

B/

h
——— HE =2
ATl == (=IE £3)
3 1o 712t X A
2t Ago|Y 7R LIE| 481 212! _ 5
AHlo|Z E%;; 92
ZM bHY S2felE grA - - -
10,000 5,000
40,000 20,000
100U 200,000 200,000
900,000 900,000 -
3,000,000 3,000,000
10,000,000 10,000,000
30,000,000 30,000,000

B Xl Az

B6 3 B72 #1747 X of¢l 2|0 28(B6= B5, B7:= B6)
% =29 HUHAS B0 5 5%= SFELIC

(&)

USDT 50% | BHC 30% | BNB 20%

E| 20 =8 $9 2t{2}o|'d éﬂﬂl :E;
360¥ 180% 90¥
5% -
3% =H(5T~

10% B - ( )

5% FH(10EHA)

o)
20 7% ZH(15EH)
30% 5% 9% =M(20EHA)
40% 1Y =M (25THA))
5%
50%
2y A0

oo ilo]Z >100U
70% )

Of 21:00 UTC+8

A Hull ofo|HE| = AH|O]

|

USDT

AL E]
X

360¢ 100%

180 50%
90¢ 20%

1%

3%

9%

7%

9%

1%

12%

18%



HRLIE| M T2

10,000 USD 90¢!

B1 =2 10% = 900 USD

B2

2 20% = 1,800 USD

1

O

0| 30% = 2,700 USD

B3

1

O

20! 40% = 3,600 USD

&) &

10,000 USD 360¢!

Bl

221 10% = 3,600 USD (360%)

291 20% = 7,200 USD (360%)

2l 30% = 10,800 USD (360¢)

221 40% = 14,400 USD (360%!)

X Huj sfo|H2|E AH|0|23

ojojmga

e L.

S

=
A



HEL|E| BHXZ2

&' HExa - 2HzZio|g
BO 1%
BT 3%
B2 5%
B3 7%
B4 9%
B5 11%
B6 12%
B7 13%

AFLIEl EX52 2|& AH|0[Z 7[ZH|

90 AH|0|Z 20%
180 AE|o|& 50%
360 AE|0|Z 100%

A A (902 / 360 AH|0[|Z)
B1 2|2
$10,000 x 3% = $300
$300 x 20% = $60 90
$300 x100% = $300 360¢

B2 2f|®!
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